Bus Stop solution

Each bus number consisted of 3 different digits.

Fiona's bus number was 307

Basic fact, plus we know Fiona's bus number.

No person waited for more than 100 minutes

Four of the waiting times were prime numbers less than 20, and the other four (which were all greater than 20) could be found by multiplying pairs of these prime numbers together. 

Primes under 20 – 1,2,3,5,7,11,13,17,19

Possible numbers over 20 from multiplying pairs of these - 22,26,34,38   21,33,39,51,57  35,55,65,85,95  77,91 

I waited 26 minutes longer than Eric, who waited 20 minutes longer than Hugh.

Only possible ones from that list, which match that clue are 19,39,65.

	Name
	Waiting Time
	Bus Number

	Me
	65
	J

	Bert
	B
	K

	Cath
	C
	L

	Dave
	D
	M

	Eric
	39
	N

	Fiona
	F
	307

	Gina
	G
	Q

	Hugh
	19
	R


Back to first clue above - that means you must have 3 and 13 and 5 to get  the multiples.

The four numbers less than 20 then must be 3,5,13,19. Numbers greater than 20 are 39, 65, 57 and 95 - only ones you can get from those lower 4.

Cath waited the second shortest length of time and Gina waited less than 15 minutes.

So now you know that Cath waited 5 minutes and Gina waited 3 or 13 minutes. 

Gina's bus number equalled Eric's waiting time times Cath's waiting time

Gives Gina's bus number as 5 x 39 = 195

	Name
	Waiting Time
	Bus Number

	Me
	65
	J

	Bert
	B
	K

	Cath
	5
	L

	Dave
	D
	M

	Eric
	39
	N

	Fiona
	F
	307

	Gina
	3 or 13
	195

	Hugh
	19
	R


My bus number was the smallest, and equalled Bert's bus number divided by the time Bert waited.

All bus numbers have to be between 100 and 999. Dividing any one of these by another one can only give numbers in the range 1 to 9, so Bert's waiting time has to be 3 minutes, which makes Gina's 13.

So Dave and Fiona are either 57 or 95 minutes.

	Name
	Waiting Time
	Bus Number

	Me
	65
	J

	Bert
	3
	K = 3 x J 

	Cath
	5
	L

	Dave
	57 or 95
	M

	Eric
	39
	N

	Fiona
	95 or 57
	307

	Gina
	13
	195

	Hugh
	19
	R


Dave's bus number equalled Bert's waiting time times Fiona's waiting time.

Dave's bus number is either 171 or 285. Can't be 171 as digits have to be different. Must be 285, and Fiona waited 95 minutes.

Fiona's bus number was 307 and the time she waited equalled Cath's bus number divided by 8.

Cath's bus number is 8 x 95 = 760.

	Name
	Waiting Time
	Bus Number

	Me
	65
	J

	Bert
	3
	K = 3 x J

	Cath
	5
	760

	Dave
	57
	285

	Eric
	39
	N

	Fiona
	95
	307

	Gina
	13
	195

	Hugh
	19
	R


Dave waited for a length of time equal to Eric's bus number minus Cath's bus number.

Possibilities for Eric's bus number are therefore  760 +57 = 817 or  760 + 95 = 855 (not allowed) – so 817

My bus number was the smallest, and equalled Bert's bus number divided by the time Bert waited. Bert's bus number was the fourth smallest.

So the bus numbers we have are J (smallest),195,285, K (=3J) , 307, 760, R, 817 and as all bus numbers are 3 different digits, J must be 102 and K must be 306  (101 would give 303, both of which are not allowed)

	Name
	Waiting Time
	Bus Number

	Me
	65
	102

	Bert
	3
	306

	Cath
	5
	760

	Dave
	57
	285

	Eric
	39
	817

	Fiona
	95
	307

	Gina
	13
	195

	Hugh
	19
	R


Eric's bus number equalled the sum of mine and Hugh's.

Therefore Hugh's number =  817 – 102 = 715.  

	Name
	Waiting Time
	Bus Number

	Me
	65
	102

	Bert
	3
	306

	Cath
	5
	760

	Dave
	57
	285

	Eric
	39
	817

	Fiona
	95
	307

	Gina
	13
	195

	Hugh
	19
	715


